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Unit 4 Test  Alg 1

True/False
Indicate whether the statement is true or false.
T 1. True or false? g \W\\'
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The graph shows the solution to the system y = 4x -2 a tdu 2x + 1. 6
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Multiple Choice
Identify the choice that best completes the statement or answers the question. Write the letter of your answer on the line
provided to the left.

C 2. Tom has a collection of 30 CDs and Nita has a collection of 10 CDs. Tom is adding 3 CDs a month to his
collection while Nita is adding 7 CDs a month to her collection. Find the number of months after which they

will have the same number of CDs. 2 - . = o4+ X

a. 2 months c.) 5 months BL’ +— ;)(' )L

b. 3 months . 45 months 26 = Yy
=

What is the solution of the system? Use substitution. _ 2
%Y"Z('Lxﬂ)' tﬂ e T
X —Ux it Y b |
x Ay o - L
b. (2,3) c. (2,-3) d. (-2,-8)

~——

a. one solution @ infinitely many solutions

Ho solutions d. no solution
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5. Which solution is best found solving the system by substitution over graphing?

a. (2-5) & (1—6]—1—91]
b. (0,0) d. (—10,—%)

E 6. A corner store sells two kinds of baked goods: cakes and pies. A cake costs $13 and a gg.costs $10. In one
day, the store sold 11 baked goods for a tota] of $134. How many cakes did they sell?

. 5cak : ={| ¥\uked c 11cak N, i, =t ﬁfz
8 zakzz X‘H’ﬁ l 94}16\5 fi 3 c:lie:S \ P 4 + \0&— 3\' (o)
X %13 =y
What is the solution of the system? Use elimination. - () = —\ (o
: b i ¢ oy =i ‘
P 7 mye Hx = —_— =24

a. (-1,0) b. (0, 1) c. (0,-1) @ (1,0
What is the sdlution of the system? Use elimination. 4. LCM: a = —{20
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a. y>1 b. x>1/ c. y=1 @IG/I

Which ordered pair is a solution of the inequality?

11. 2y+6<6x

a (5,15 7 Ga(a—n /e 66 d. (0,5)
205 )46 <6 24y +6 260) 2(5)%«(,(3)\ 2(S)rl <b(0)
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You have $47 tolsp

number of albums and y the number of movies.
S5x + 9 >

ID: Practice Test

oft music and movie downloads. Each album download costs $5 and each movie
download costs $9. Write and graph a linear inequality that represents this situation. Let x represent the

47
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Albaiis x ‘ 0 2 3Alb?l mss 6 7 «x
b. 9+ 5 <47 @5x+9ys47
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( ;/ 13. Which inequality will use a solid line in its solution graph?
a. y>-3x-5 @ y@x+1
b. y>x d y<2x



Name: ID: Practice Test

What system of inequalities is represented by the graph?
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a. y ¥x-2 @ySX—Z

yﬁ:-—3x—6 y <-3x-6
b. y<x+3 d yXx+3
yX2x-6 y'<2x -6

Short Answer: Show all work for credit. Write your final answer on the line provided.
What is the solution of the system? Use a graph.

15. y=5x41
y=x-3
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What is the solution of the system? Use a graph,

16. y=-2x+3
y=-2x-3
F v
R N
\ \‘
‘;_5 5 4 -8 2N\ :
MR
no = »
Solution: S 0\ (&T?,GY\ J, N

How many solutions does the system have?

17. y

4= T6x = 12

41y AE)-bx=12
ey t 2/‘1%[(3)(" Z( s

2= |
Number of solutions: m)
N5

What is the solution of the system? Use substitution.

o yzas % 3 +e:x

5o
Solution: (gl >2’)
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What is the solution of the system? Use elimination.

19. 4x+y=-16 Ky +u= b
(=7 (M) (M V"tx%i:}: i I

9=~ xra)=7

\j"' ')(_\/\ L’)7

Solution:(fg:l LK) X -

Graph the inequality.

20. y > —4x+5 =
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Qv =2 24=12
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21, 4x+2 > 12
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What is the grap?t of the inequality in the coordinate plane?
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23. What is the graph of the! system? .
osid ¢ below

y<3x+1
éc;’ii-y < -1 4
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24. Kendra owns a restaurant. She charges $3.00 for 2 eggs and one piece of toast, and $1.80 for one egg and one
piece of toast. How much does Kendra charge for an egg? A piece of toast? :

¥|.20 40,60

Cost for an egg: a Cost for a piece of toast:
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